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For hints, solutions and more puzzles, go to
bluebird www.Printable-Puzzles.com!
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1. The one who saw the bluebird is not Alyssa.

2. The one who is fifth in line grows bananas.

3. The person who grows apricots is not Michelle and never saw the bluebird.

4. Of the one who saw the bluejay and the one who saw the bluebird, one is second is line and the other grows

strawberries.

5. The one who saw the owl is Leo.

6. Either the one who is sixth in line or the one who is eighth in line is Michelle.

7. The person who grows strawberries is not Julian or Alyssa.

8. Michelle is closer to the front of the line than the one who saw the thrush.

9. The person who grows raspberries never saw the bluebird and is not Alyssa.

10. The person who grows raspberries is farther down the line than the person who grows bananas.
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